Find the smallest value in the domain of the function f (z) = /22 — 5.
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Find the largest value in the range of the function f (z) = 3 — 2z°.
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Find the domain of the function f (z)
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Operations With Functions
S(x)=x"+2x-6 g(x)=3x"—dx+2

1. Addiion FCxD+g(x) OR (F+gX(x)
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2. Subtraction —f¢x) —300 o (F -__9){><)
X E+2x ok ([ BxFIx+2)
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4. Division  _£ex D
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Composition of Functions
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Ex1: f(x)=2x g(x)=x>+1
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Ex2: [f(x)=x'+3 gx)=x  h(x)=sin(x)
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Ex 3:




Ex 4:

Use the given table to solve the problems

listed below.

X -3 (-2 (-110 |1 |2 |3 |4
f(x)|O |2 |4 |6 |5 |8 |5 |4
g(x)|13 |12 |0 -3 4 |-1 |0 |2
h(x)|-2 |14 [-2 |1 |-1|-1|-3 |5
ix)/1 |-31-1/0 6 (1 |1 |4
L(feg)-b=(p 4.(gohogx-2)=C
2.(hoy2)=" | 5. (foho N3 = H
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Pilecewise Functions

x+2 x<-1 (—),l\
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-3 x<2 (2,0 3)
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AP Calkulus AB Name

Werishee: — Fanctions, Dosmain, Rasge, Fecewine

Gitutem(;}-&-: = 1z, evalsae sach foocion 31 e reguened valse

163- fB)-
A3)- G-
fla+1)= M -

Smte e camral dommain of the gives funcson:

=T M=) -,i%’
s - ﬁ o) =snS7

Sate he catral domam and ranse of Erves Socuons
3(:)-\‘-; fEy=3=J%

Bz =22 +3 Flz)=3 sins



Fand the valoe of x grvesn Te valoe of the ocsca.
H) == —x. ) - = =8

Fe)—mnd e — P 2 f)=b, S=-3
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(o= a calculstor for the problemm)
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